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Exercise 1
1. Round to the nwm;io 3
(@) 71 by 78 (o) 129 ) 1995,
2. Round to the nearest 100 i | |
{a) 291 (t) 78 &) 781 (d)y 23559,
3. Round to the nearest 1000 :-
{a) 4500 (by 7299 (¢} 18901 {d)y 1234567
4. A fossil was -di,scoverfeé and-wds carbon deted -gif 127:8%1 years old. Round this figure to the nearest i
(a) 10 (b) 100 (¢} 10000 (d) 100000,

Exercise 2
1. By rounding each number to 1 figure accuracy, find an ggfimate to each of the fallawmg -
(a) B9 x 1% {b) 402x9% (¢} 379x 320 :
(d) /94 + 38 (e) Blz=s22 (f)y 1961 +197

2. Nineteen houses in a street gach use 311 litres of water every day.
ApproXimately how riany litres of water is this altogether ?

3. The number of ‘termites found:in 196 mounds was 131 089,
Approximately how many on average would each mound have ?

Exercise 3

1. When each of the following numbers is rounded to 1 decimal place, which of the two values
in the brackets is the correct answer -

{a) 326 (320r33)? {b) 1-38  (I3or 14) 7 {c) 705 (70or71)?
(d) 1891 (1890r190)? (e} 2195 (21:90r22:0)2 (f) 004 (0CorO1)?
2. Copy and complete, rautiding €ach number to 1 decirmal place =
(a) 387129 — 3. R - (b) 4119999 — (¢) 829001
(d) 005012 —> () 5909999 —> () 9-95078 —>
3. Write down the answer to the following; correct to'1 decimal place i~
(a) 117 by 30+9 () 091+4  (d)33+34  (e) 146
4. Round these numbers to 2 decimial places & -
(@ 346528 ®) 597764 (o) 231792
(d) 637499 (e) 841584 - (f) 704808
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5. Change these fractions to decimals and round the answers o 2 decimal places -~

@ .Z_s (?‘_’%.713) = O53846L.. = O (ro 2--&%%&?@?@«:35)
(b)f_% Gty = o o -
© 8= =) =

© 7 -

hen mokmg ca%cula ons

Ekercise i
1. Write the following numbers in words -
(a) 3040 (b) 58O (c) 20300 (d) 40050 (&) 10010 010.

A

. Write the following numbers out fully using digits :-
(a) sixteen thousand and one b} 'E:fgﬁf hundred thousand and eighty
(£} ten million, one hundred thousand  (d) one hundred milifon and ten.

3. Write out in figures s
(a) 100 million (b)Y OB million (¢} 35 milkion (d) 08 million.

4. What does the 2 represent in each of these numbers i

(a) 12789 (b) 5203 (¢) 89-542 {d) 0-1273 {e} 0-912372
5. Put the following sets of numbers inorder, highest first i-

(a) 9048, 9090, 8999, 10010 (b) 10999, 11001, 9999, 10090, 10100, 100000,
6. Arrange the féiiawing_gfeupsi of numbers inorder, largest first -

7. What riumber lies half-way between -
(a) 10000 and 15000 (b) 8500 and 10000 ?
8. What number lies half way between -
(a) 012 and 018  {b) 1401 and 1:391 {¢) 2:315 and 2325
9. What number is i~
(@) & up from 24 (b) & down from 571 (€] g up from 2 47572
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Exercise 2
1. Look at the following scales. What numbers are represented by the letters A, B, C, ...

', __ A _$3s._  c$
%1 | LR L ! LB g gi I L | L I Pl i 1 3 %
£ — 0.5 o 1O -

. —

2. State what number each of these arrows is_pointing fo -

@ (ool o fapo DI
17 A 8 D S T '

| B 1

@ {ioafrapnnn] @ 0 ECCRER] COON L IR
2 8 2 [ 16 17 18 A4 )

3. Be careful here. Say what number each of these arrows is pointing fo -

@F 11 |

4. State what number each of these arrows is pointing to =~

@ q:[n'-f—s{mn[_n_u'ltix“f]:’fitﬂ ®) 'O (NG OO [Ty
{23 24 25 } 52 A 153 154§

Page 3




Exercise 3
. Do the following taentally i~

{a) A train carrying 84 passengers stops at a stution and 27 get of f the ‘train,

How many passengers are stilt o the train 7

(b} One hundmé and. mnaw ?wc passengers dssembqu frnm an ae:r*apiane

many passengers were origmaiiy on ‘??w ;:iane 2

() The population of Aylesbury is 48 700.
The population of Bracknell is 57 500.

(i) Find the totdl population of both towns.

(it} How many more peapié live in Bracknell than Aylesbury 2

. The population of Cederton is 40 000,

Of this population there are 16 500 men, 14 800 woimen and the rest are children,

How tnany children live in Cederton 7

. In Pascal's triangle the a ':
hutmber 1 appears af: the row O
“top and af each-end of

subsequent rows as shown, row 1
To.find a number inside row 2
the triangle add the two -
numbers above it i“ﬁﬁf 3
row 4

(a) Copy and complete the
‘h’*iangla -u;’i to row 5, row 5

i
st
g 1
.ié:}' 3 p
I 1
! i

Exercise 4
. Do the following mentally -

(@) 37+12 (b) 52+3% (c) 186-35

(d) 236 - 158 (e) 158 - 1.01

(f) 59~ 409  (g) 096-04 (h) 548891 (1) 04-017 () 121-784

. Copy. ond c;amg;ﬁg%z-;a

(6) 475 ) 817 € 138 @ 1938
+ 352 B '5-f_§6 - 127 - 989
(e) 224+ 99 (f) 4-23 (9) 117 -345 (h) 58-492
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. {a) A34 kg bag of salt is-added to a 1-9 kg bag.
(i) What is the totdl weight ?
(i1} What is the difference in w&ngh%‘ ?
(b} Inaformulaone race Neeson ¢ track
times were 21-7 and 22:56 secs.
(I} What was the combined time ?
(i) What was the difference in the times ?

. A scientist puts 39 ml of hydrochloric acid,
456 ml of acerbic acid and 968 mi of citrlc.
acid into a test tube.

(d) What is the total amount of acid in the test tube ?

(b) How much more citric Than hydrochloric acid is there 7

. Perimeter is the fotal distance around the outside ¢f a shape, ? //////%////fj/ '
A rectangle has length 12-32 ¢m and perimeter of 308 em, i pg”mﬁfﬁr o
Find the width of the rectangle (show all your working). ¢ W//f’/y / /
o | 12:32 em
Exercise B

. Copy the following and complete the calculation = |
() B7( ) 435 e} 708 (d) 5555

x3 | X? %9 . _“’_“8.

Rewrite each of these in the above form and complete the calculation i

{a) 207 x6 {b) 824 x8 (¢) 1057 x4 (d) 5x888
. 8et down and complete -
{a) 248 k) 546 ) 704 d 555
...... x26 . xB9 _x7e %55
a0 e

Copy the fellowing and complete the calculation -
(@) 7[3808 b) 50265

Se¢t down in the manner shown above und e:am;ﬁ_efe the caleulation -

@ 85216

(c) 6[7434

() 7273+7 (b) 5175+9 © :4550_& @) 6;38;:5
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5. Show all your wﬂbkihg_ in answering the following questions -
{b) How many hours are there in a waek ?
(¢} How many:seconds are there in 4 hours ?
(d) Find 8 x 4 x 56,

6. Show all yﬁur‘w&riéihg in Qns'w_ef*ing- the following quesgtions 1+
(a) How many weeks are there in 343 days ?
(b) Golf balls are packed with & in each box,
How many boxes are needed for 258 balls ?
{c) Anine hole golf course has length 1971 vards.
Find the average length of each hole.
(dY A pack of gotf tees contains 8 tees,

How many packs are needed for 2248 tees ?
Exercise 6
1. Write down the answers 1o the following :-

(a}) 434 by 827 {c} 878 {(d) 119-38
% 4 =7 ' X & x9

(€) 57x8 (f) 423 x4 @) 13595 (hy 7x 87521

2. Show all your working to -*%hé.-’fo!liﬁwihg'que.s?’féns 1
(a) Fredthe monkey eats 3.74 fkg of food every day.
What is the wéfgh‘i’.ﬂf food -Fﬁ'e’c{ will eat in -
(i) 3days (i) aweek?
(b) Boris the zao :Reapetflge.fﬁ pald £7 84 -an hour.
How much will Boris earn in -
(1) ‘4 hours {if) 9 hours ?

{c) -iéevin the Camel eats gix 3:71 kg boxes of dates every month,
Karen the Camel eatd five 4:09 kg boxes,

Wheo eats more and by how much ?

3. Copy and complete the following i~

@) 237716 b gfsraa (@
4. Find i (@) 357+:7 (b) 5706+6 (¢} 00728
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5. Show all your working for:the following questions -
(a) Nine bricks have o total length of 2:61 metres.
What is the length of t brick >
(b) Three kegs of beer hold 3072:6 litres,
How much beer does ane keg hold ?
(¢} Find - () athird of 198 (i) «aninth of BL-66
| (iil) asixthof 606 (iv) afifthaf 0-7

6. Two shops sell identical shirts, o
Shop A sells three shirts for a total cost of £879.
-Shop B sells five shirts for o total cost of £1475;

Which shop has the best deat ? Explain.
Exercise 7

1. Write down'the answers to the following -
(a) 22 x 10 k) 10x39 (¢) 104x10
(e) 2020 x 10 (F) 34x100 (g) 100 x40
(i) 2010 % 200 (i) 8100x100 (k) 21x 1000
() 200 x 1000 () 30501000 (o) 1000 x 1000

2. There are 1000 mi (millilitres) in 1 litre,
How many ml ifi - {a) 4 litres -(&) 30 litres
(dy 150 litres (2} 100 litres

3. Write dawn‘fhgi answers to the f;;ﬂawihg .
(@) 20 +10 (b) 300 +10 () 14000 + 10
(e) 1000000 « 10 (f) 400 + 100 (g) 8000 = 100
(i) 99000 «100 (j) 120400 +100 (k) BOOO + 1000
(m) 870000+ 1000 (n) 909000+ 1000 (o) 1000 + 1000,
4, There are 1000 ml (millilitres) in q litre.
How many lifresin~ (d) 50000 ml (b) 100000 mi
Exercise 8
1. Write down the answers to the following i
(a) 84x10 (by 98x10 (e} 762x10
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[d) 10x340

(hy 101x100

M 1000 x 70
(5) 5000 x 1000

(¢} 12 litres
(f} 1000 litfres?

(dy 200000 « 10
{(h) 5400 + 100
(h 42000 + 1000

{c} amillionml?

(@) 1871x10




(e) 641100 () 091100 (g) 4020100 (h) 00054 x 100
(i) 5213x1000  (j) 08765x1000 (k) 10041x1000 () 421000

2. A crate weighs 47:62 kg. What would be i?ﬁe.wgfgﬁf; of i-
(0) 10crates (b) 100 erates (¢) 1000 crates (d) 10000 crates?

3. There are 1000 millilitres in a litre, How many millilitres are there in -
(@ 5 litres (b) 762 litres (6) 00415litres  (d) 001 litres

4. Write down the answers to the fé'i!awiag: =
(a) 286 =10 (b) 198+ 10 (¢) 7:62+10 ) 1871+ 10
(e) 641+100 ("f} 1091+ 100 (@) 42+100 (h)y 084+ 100
() 5213:1000 () 083+ 1000 (k) 1004=1000 (1) 9 +1000

5. The length of 100 sections of railway track is 412+6 metres long.
(a) What is the length of edach section in metres ?

(b) Change your answer to centimetres,

6. Try to do the following mentally :-
(a) 32x30 (b) 41x60 () 50x 32l (d) 404 x 90
(e) 12x 300 (f) 42x400 (g) BOOx 21 (h)y 800312
i) 9021%30 () 312% 7000 (k) 2000+ 20 () 4400 - 400
(m) BO400+200  (n) 1ullion 2000 (a) 10 willion = 50000

7. A-box contains 50 matches.
How many matchesare in = (a) 50boxes (b) 231 boxes?

8. 34 200 marbles are stored equally amongst 200 jars.
How many marbles will be in each jar 2

9. A jar hold 340 sweets. A box hold 20 jars. A crate holds 30 boxes.
How many sweets would there be in 20 crates ?

10, - .
O(a) A fishing trip compdny stocks 320 jars of worms. Each. jat* containg 30 worms.
How many worms in total does %h'ﬁ.j company stack ?
(b} On a fish farm 24 000 fish are kept in 30 Tanks:
If each tank-has the same number of fish, how iany fish aré in each tank ?
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Exercise 1

1. The time taken for each music track af the disco was as follows (in minutes) -
w8 12 13 7 H 12 13 2 1 10
9 1 10 i 9 1 1 8 8 9 8

Organise the datg into-a frequency table.

2. The vowels in the first paragraph of a book
were counted to see which was most frequent.

Make a frequency table and bar graph to
display the data.

Dmmm
R 810z
W

Exercise 2

1. The comparative line graph shows the
sales of calculators from two dif ferent |
companies CALC-R-US and CALCU-NEED. 4007 s

{a). How many ;q%cuigﬂ:r‘s did
CALCU-NEED gell in

k .
. § o 3 W,
() August A o A - = HUNEED
(i) Septrember
(i) January ?

Bog

100 SN PR E S e : S T

(b) One company had o big-advertiging e B
cam pwgn bé,;i_‘wé_?ﬁ- September and Avg  Sept  Oet  Nov  De¢  Jan Feb
October. Which company 7 Month

Number of Computers sold

2. The monthly computer sales of thiree _ y , _ _
separate companies are as shown, - . Jan  Feb  Mar  Apr  May
Draw a comparative line graph showing JDK 100 200 300 200 300 400 |
the sales information of the three companies | 3 '

«and make a.comment about how the sales’ | IPS 300 250 150 200 400 450
vary month by month. HE 350 500 400 280 300 325

Jutt

Exercise 3
1. 100 people were asked their favourite comic book.
How many people chose :-

(i) Superman (i) X-Men
(iii} Spiderman {iv) Batman?
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. This pie chart shows this. year's senior school disca attendance.

Fo=, pupils ot
N, school

(a) What percentage of the pupils were - __
A disco

(i) 4thyear (i) Bthyear (i) 6thyear ?
(b) If 480 pupils attended the disco, write
how many from each year group.there were.

(c} Last year; of the 480 in attendance half were 6th: year,
an fifth were 4th year and the rest were 5th year,

Copy or trace the outline of fhig pie chart,
Show last years disce attendance: figures on your pie chart;

Exercise 48

. Find the MEAN und the RANGE of the following -

(0) 2,3,6,5,2,9, and 8 {b) 41,37,53,and 45

(¢} 13,12, 12, 18, lé'a_rjld'. 15 {d} 31,248, 36, 34 ond 39

. Josh is a computer games whiz kid, | |

He completed each level of DEATHGAME in the faollowing times (in minutes) :-
86, 95, 88, 79, 104, 89, 81, 83 and 9.

. What was hiz mean time per level ?

The mean weight of 3 boys is 37 k. Aﬁdy‘ weighs 36 kg, Bili weighs 34 kg.
Calculate The weight of Calin,

Exercise 1

. Inarace, 6 of the horses are male and the other 12 are female,
Tf ahorse's name. is. chn’seri._-eﬁ' random, what is the probabi i_i?y
(&) it will be maia 27 by it will be‘.'?féfﬁtiié’;?f R

. Thig 7-sided spinner iz spﬁﬁ and ﬂ«;e: ﬁumi:xar nmecf o
Calculate, as a fraction, the: pr*obah;!rl’y ﬁ Wi” pmn‘f o -

(o) the number ii et} (b) ‘an EVEN numbez* ?(ﬁ\f@n}
{c:) a MULTIPLE of 3 (dy the number 7 2

. The prcfzabﬂﬁy it will rainthis week- end i is-3
What is the prebab;h?g it will not rain this wgek end,
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